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2.) Reese has $225 in ien deollar bills and five dollar bills. The number of five dollar bills
f ten dollar bills. How many of sach does he have?
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3.) Casey has 15 pounds of cashews that sell for $5.25 per pound. If peannts sell for
$2.50 per pound, haw many ponnds of peanuts should he add 1o the cashews to obtain 2
mixtura that will sell for $3.75 per pound?
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4.) Two years ago, Taz was three times as old as Gel will be in one year. In four years.,
Taz will be fifteen timea Gel’s age 1ast year. How old are Taz and Gel today?
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5.} Dory has a solution that is 65% boric acid and a solution that is 15% boric acid. How
much of each should she use to obtain 300ml of a solution that is 35% boric acid?
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